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BENE FHER) RHE(B) ER(A)-(B) =

BRI ZRBENA 90, 372, 000 85,322, 430 5,049, 570

P —C RS BRIRA 404, 541, 000 416, 239, 666 -11, 698, 666

5| ¢ [zoftoBRIRA 112,828, 000 112,194,553 633, 447
% [EmERsh R 25,717,000 25,517, 000 200, 000
&| [BERBEERRA 35,000 54,958 -19, 958
8| |[EOMORA 4,047, 000 4,107,233 -60, 233
- L [BEEBRAG (D) 637, 540, 000 643, 435, 840 5 895, 840
Nz 370, 860, 000 368, 777, 206 2,082, 794

S| | mmsn 54, 635, 000 50, 745, 975 3,889, 025
3|% | spEey 62, 873, 000 58, 920, 355 3,952, 645
UR| it |t R 90, 170, 000 86,344,174 3,825, 826
%| |zoftos 14,000 13, 768 232
SEEHTLET (2) 578. 552, 000 564, 801, 478 13, 750, 522
SEEHELNTEE (3) = (1) - (2) 58, 988, 000 78, 634, 362 19, 646, 362
= Rz mnh A 35,130, 000 35,130, 000 0
IR | e B BRI 0 0
7 | A |20t L BRA 725,000 721,670 3,330
%| [EREmEmAt (4) 35, 855, 000 35,851, 670 3,330
€[5 |[BEEEREE 122,044, 000 122,239,502 =195, 502
& |, OO ES LB 2,780, 000 2,775, 412 4,588
z | [EREESEmst (5) 124, 824, 000 125,014,914 190,914
o [T REESINE =2 (6) = (4) — (5) ~88, 969, 000 ~89, 163, 244 194, 244
VIR [ AR 2,630,000 2, 628, 200 1,800
& | A [EOMDEBIRAGE (7) 2, 630, 000 2,628, 200 1,800
B[ X (B EERE 27,967, 000 28,110, 600 143, 600
€ |t [zotoEm=mEr (8) 27,967, 000 28,110, 600 =143, 600
L [EOMOEBESINEZE (9) = (7) - (8) ~25, 337, 000 ~25, 482, 400 145, 400
FREZE (10) 0
SHERNEERAT (11) = (3) + (6) + (9) - (10) —55, 318, 000 =36, 011, 282 19, 306, 718
AR ZIAA RS (12) 533, 456, 000 533, 450, 700 5, 300
LR RIESRES (11) + (12) 478,138, 000 497,439, 418 19, 301, 418
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